Lecture 21
Tuesday, November 3, 2020
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select Employee.LastName, Employee.FirstName,
Employee.Email

from Employee

where Employee.HireDate > "2003-01-01"

/* Question: Is the following a valid translation of the
SQL query into R.A?

Project (Lname, Fname, Email) (Select (HireDate > 2003)
Employee) */

select E1.LastName
from Employee as E1
where exists (select * from Customer as E2 where E1.LastName = E2.LastName)

/1 project (Employee.LastName) select (Employee.LastName = Customer.LastName) Employee *



Customer

// selectin QL ~= project in RA
// from in SQL ~= Cartesian Product / Join in RA
// where in SQL ~= select in RA

select Employee.Title, count(*)
from Employee
group by Employee.Title

// Group the entries of the Employee table by their title
// Count the number of employees in each group

// Group the employees by their title
// Count the number of employees having each title



